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Chapter 1 Warm-Up Answers

BLM 1–3 Chapter 1 Warm-Up

Section 1.1

1. Example: ruler, odometer, measuring tape

2. a) Example: 2.7 cm or 27 mm b) Example: 0.4 cm or 4 mm
3. Examples: a) 0.052  b) 37 100  c) 185  d) 0. 0278

4. a) 19  b) 5  c) 0.15  d) 6

5. a) Estimate: Example: 30 cm; calculate: 31.4 cm

b) Estimate: Example: 18 cm; calculate: 18.8 cm

Section 1.2

2. A: 
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; B: 
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; C: 
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; D: 
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3. a) 
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[image: image12.wmf]15

4


4. a) 35  b) 
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 or 
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  c) 60

5. a) 10 cm  b) 13 cm 
Section 1.3

1. a) 4  b) 5  c) 1760

2. a) 15  b) 3.8  c) 500

4. Example: Change 
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 to 
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, and 2.1 to 
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, which becomes 
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. Then, multiply. 

5. a) 1.4 m or 140 cm  b) 3.5 m
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